 Chapter 5 Hints and Solutions to Exercises p. 33
Exercise 5.1 

a. gcd(12345,67890) = 15

b. gcd(54321,9876) = 3

Exercise 5.3

In the first question, use the Euclidean algorithm to write 
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. Use the fact that by the division algorithm 
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 (all quotients must be that when performing division of positive numbers) to derive the inequality. To answer the second question, we can use to fact from the first now that 
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(1)

Note from (1) that 
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From the Euclidean algorithm on p.30 we can see that then n+1 total Euclidean algorithm steps. Using (1) and (2), consider when n+1 is both even and odd to derive an inequality (the odd case is the trickiest).

Exercise 5.4

c. (Will do in class)

_1103711955.unknown

_1103731934.unknown

_1103732071.unknown

_1103712354.unknown

_1103712669.unknown

_1103712331.unknown

_1103711779.unknown

